Name

2-6 Consecutive Integers

CONSECUTIVERINTEGERS

consecunve_ ONY. Aftey  anotner in  order..

Examples:

e Three consecutive integers:

Date
Algebra 1CC

firse &% alvooNs e
X+2

I 2 35 X

X+l

o Three consecutive even integers: _; Elf _(.z > _L liz____x_"'ﬂ-

e Three consecutive odd integers: ‘

1. Find two consecutive integers whose| sumis 45.

A 5 5 X %x+2 x<+4

—

(45%) +(2nd) =45

ler{Asy| X |22 %
2nd| X +| (X)) +(X+)=
X 23 S / u5 ______:
2. Find three consecutive integers whose sum is 33. 2X ﬂi
15+ X 10 (1Y) + (2ndY= (3\-& 23
2nd| X+1 | 11 (x )+ (x+)+ (x-»z\- 33
3rdl x+2| 12 5"‘%“%?. X=10)
Evens & Odds: A% =30
3. Find two consecutive 4. Find three consecutive EVEPS. Find two consecutive
[‘evenlintegers whose[sum) integers whose sum is 54. loddijintegers whose sum
is 26. -—-—* X 1o is 128,
IS4 X N2 e xﬂ_é 1511 X YS
2rd [ X+ 2 \§ 3rd | X+ 20 2nd| x+2
(x)+(x+2)= Zb| )+ DR AV (x )4 (x+D= 12
. + 5"\' =123
Zx1g=2p | BgTSL | gtV
2 X = ".'Li = |
Zx 24- = 3 2X =24

.4 -'-ll__a\
. _

FX' \23

B




PRACTICE: Try these... follow the same steps we used in the previous examples!
1. Find three consecutive integers such that the[sumjof the first and the third is 16.

Ist] X (\sD+BrD= b -

9
2nd|x+1 | g X + (x+2) =‘\U
2rd|x+21 9 ZX-\_-;%-__{
zxz=\4 [ X=]1
2. Find three co nsecuhv_mfeg ers such that Th@f the first and the third equals the sum}
of the second and 43. (\S‘\’) N L?N"d) N LZhd)—_"' "\'3 =

| st X | “\ X+ (x¥¥) = (x+2) + 9>
2nd| X+2 |43 2x+4 = X+HS
TEE -
3vd | X+4 <y ,_\,5 (;,Lr \
More Practice with Consecuhve Integers ot end
3. Find two consecutive integers such that tenimore thanlfwice the smaller is seve@
three fimes e larger 2(smaler) +10 = 3(larger) =71
Znd| X+1]15 2X+\0= Zx+ 33—

%z/-\- \O = ?>zx -4

—£X =)
2 g =32y =)
4. Find three consecutive odd mTegerssuch that thg sumpf the smaller two i |s threeltimesithe

largest in se even. (_\5‘\'3 * ('Zﬂd} 3 3T‘d3 _\-_’

‘st x \-1 X r(x+2) = 1
Z2nd| x +2 |-15 3lxr)

2X +2 = 3n+\2x]
3rd| x+4 -3 z;+z=?>£+\q | \
- - R -1 o
= %« (x L )
5. The lengths of the sides of a triangle are co iy q s at is the length of the
longest side if ’rh£45? [Hint: draw a diagram and label it]]
Jer] X 12 X +(x+2)+x+4H=45
2nd| X +*2Z 15 Bx+U=9S |
2 ECTuE YT (T
Side VS
Sx=23 1.

X‘V\ =
x:\?:l




